## Archivum Mathematicum

Neelacanta Sthanumoorthy
Spectral invariant of the zeta function of the Laplacian on $\operatorname{Sp}(r+1) / \mathrm{Sp}(1) \times \operatorname{Sp}(r)$

Archivum Mathematicum, Vol. 27 (1991), No. 1-2, 95--104

Persistent URL: http://dml.cz/dmlcz/107408

## Terms of use:

© Masaryk University, 1991
Institute of Mathematics of the Academy of Sciences of the Czech Republic provides access to digitized documents strictly for personal use. Each copy of any part of this document must contain these Terms of use.
This paper has been digitized, optimized for electronic delivery and stamped
with digital signature within the project DML-CZ: The Czech Digital Mathematics
Library http://project.dml.cz

# SPECTRAL INVARIANT OF THE ZETA FUNCTION OF THE LAPLACIAN ON $\operatorname{Sp}(\mathbf{r}+\mathbf{1}) / \mathbf{S p}(\mathbf{1}) \times \operatorname{Sp}(\mathbf{r})$ 

NEELACANTA STHANUMOORTHY

(Received May 15,1987 )


#### Abstract

The aim of this paper is to compute a spectral invariant of the Zeta function $\zeta(\Delta, s)$ at $s=0$ of the Laplace Beltrami operator $\Delta$ acting on 1 -forms on $S p(r+1) / S p(1) x S p(r)$.


Key words. Eigenvalues of the Laplace Beltrami operator, Zeta functions, spectral invariant.
MS Classification. 58 C 40.

## 1. INTRODUCTION

When $A$ is a self adjoint positive elliptic pseudo-differential operator of order $m(>0)$ acting on a compact $n$-dimensional manifold $X$, its eigen values are $\lambda>0$. Its Zeta function $\zeta(A, s)$ is defined as

$$
\begin{equation*}
\zeta(A, s)=\operatorname{Trace} A^{-s}=\sum_{\lambda>0} \lambda^{-s} \tag{1}
\end{equation*}
$$

Here each eigenvalue repeats as many times as its multiplicity. This series converges to $\operatorname{Re}(s)>\frac{n}{m}$ [4] and gives a holomorphic function of the complex variables in this half plane. Moreover $\zeta(A, s)$ can be analytically continued to the whole of $s$ plane as a meromorphic function with simple poles. When the operator $A$ is not necessarily positive, we define its eta function as $\eta(A, s)=\sum_{\lambda \neq 0} \operatorname{Sign} \lambda|\lambda|^{-s}$, where each eigenvalue $\lambda$ of $A$ repeats as many times as its multiplicity.

The real valued invariants of the metric satisfying the condition that it is a continuous function of the metric can be obtained by evaluating $\zeta$ at some point where it is known to be finite. For a positive operator $A, \eta(A, s)=\zeta(A, s)$ is finite at $s=0$ by the results in [7]. In [2] and [3], the spectral asymmetry of certain selfadjoint elliptic operators arising in Riemannian geometry was studied. In particular an expression for $\eta(0)$ was given in [2] for the selfadjoint operator $B=$ $= \pm\left({ }^{*} d-d^{*}\right)$ acting on even forms on the boundary $Y$ of a $4 k$ dimensional
compact oriented manifold $X$. Here $B^{2}$, the square of $B$, is the usual Laplace Beltrami operator $\Delta$. The function $\zeta(A, s)$ for arbitrary selfadjoint operators was studied in detail in [4]. In [10], we gave a general method of analytic continuation to compute the spectral invariant of the Zeta function $\zeta(\Delta, s)$ at $s=0$ of the Laplace Beltrami operator $\Delta$ acting on 2 -forms on sphere $S^{4 r-1}$ and computed explicitly the value of $\zeta(\Delta, 0)$ for $S^{4 r-1}$. The aim of this paper is to compute the spectral invariant of the Zeta function $\zeta(\Delta, s)$ at $s=0$ of the Laplacian $\Delta$ acting on forms of degree 1 on $S p(r+1) / S p(1) x S_{p}(r)$. The method we have used here is similar to the method that we used in [10].

The author is thankful to Professor K. Ramachandra of Tata Institute of Fundamental Research, Bombay for very useful discussions he had with him regarding the analytic continuation of the series of the form $\sum_{n=1}^{\infty} g(n)\{f(n)\}^{-s}$, where $g(n)$ and $f(n)$ are polynomials of finite degrees. From these discussions, it was understood that Professor K. Mahler [6] had long back obtained more general and deeper results on the convergence of such series and integrals. The author also thanks Professor S. Raghavan of Tata Institute of Fundamental Research, Bombay for some useful discussions.

## 2. SPECTRA OF THE LAPLACIAN $\Delta$ ON $S p(r+1) / S p(1) x S p(r)$

Let $G$ be a compact connected semisimple Liegroup and $K$ be a closed subgroup of it. We consider the space $M=G / K$. The Laplace Beltrami operator or Laplacian is defined as $\Delta=d \delta+\delta d$, where $d$ is the exterior differentiation defined on $C^{\infty}\left(\Lambda^{\mathrm{p}} M\right)$, the vector space of the smooth sections of the $p^{\text {th }}$ exterior power of the complexified cotangent bundle $\Lambda^{\mathrm{P} M}$ on $M$ and $\delta$ is the operator adjoint to $d$. When $B$ is the Killing form of the Lie algebra $\mathfrak{J}$ of $G$, the casimir element is $C=\sum_{1 \leq i, j \leqslant N} C^{i j} X_{1}, X_{j}$, where $\left\{X_{1}, \ldots, X_{N}\right\}$ is a basis of $\mathfrak{I}$ and $C^{i j}=\left(B\left(X_{i}, X_{j}\right)\right)^{-1}$. We have the Cartan decomposition

$$
\mathfrak{I}=k \oplus m
$$

(direct sum), where $k$ is Lie algebra of $K$ and $m$ is the orthogonal complement to $k$ in $\mathfrak{J}$ with respect to the Killing form B. Restricting the Killing form sign changed to $m$, we get a bi-variant Riemannian metric on $M=G / K$ and the identity $\Delta=$ $=-C[5]$. Using this result, the eigenvalues and its multiplicities for $\Delta$ acting on $p$-form were computed for some $p$ and some $r$ for the space $S p(r+1) / S p(1) x S p(r)$ in [13]. In [9], we computed all eigenvalues of $\Delta$ acting on 1 -form on $S p(r+1) / S p(1) x S p(r)$ without using the identity $\Delta=-C$ and our results coincide with the results in [13]. We state the theorem $A$ that we have proved in [9].

Theorem. The spectrum of the de Rham Hodge operator $\square$ (or Laplacian 4) acting on forms of degree 1 on $\operatorname{Sp}(r+1) / S p(1) x S p(r)(r \geqq 1)$ is the union of the sets

$$
\begin{gathered}
\left\{\frac{1}{2(r+2)}\left(n^{2}+2 n r+n\right) ; n \in N^{*}\right\}, \\
\left\{\frac{1}{2(r+2)}\left(n^{2}+2 n r+3 n+2 r+4\right) ; n \in N\right\}
\end{gathered}
$$

and

$$
\left\{\frac{1}{2(r+2)}\left(n^{2}+2 n r+2 n+2 r+1\right) ; n \in N^{*}\right\} .
$$

Using the notations in [9] if $\Lambda_{\boldsymbol{e}}$ is the highest weight of the irreducible representation $\varrho$ intervening in the $C^{\infty}$ sections of the complexfied cotangent bundle on $m$, then the multiplicity of an eigenvalue $\omega$ is the product of the multiplicity of $\Lambda_{e}$ and the dimension of the representation $\varrho$. By the results in [9], the multiplicity of $\Lambda_{e}$ is 1 in each case. The dimension of the representation can be computed using Weyl's formula:

$$
\frac{\pi\left\langle\Lambda_{g}+\delta, \alpha\right\rangle}{\alpha>0\langle\delta, \alpha\rangle}
$$

Here $\alpha>0$ are the positive roots in $S p(r+1)$ and $\delta$ is half the sum of the positive roots in $S p(r+1)$. So we get the following table.

Highest weight $\Lambda_{e}$
Multiplicity of the eigenvalue

$$
\begin{aligned}
& n\left(\lambda_{1}+\lambda_{2}\right) \\
& (n+2) \lambda_{1}+n \lambda_{2} \\
& (n+1) \lambda_{1}+n \lambda_{2}+\lambda_{3}
\end{aligned}
$$

$$
K_{1} \cdot a(n, 2 r) \cdot a(n, 2 r-1)\left(n \in N^{*}\right)
$$

$$
K_{2} \cdot a(n+2,2 r) \cdot a(n, 2 r-1)(n \in N)
$$

$$
K_{3} \cdot a(n+1,2 r+1) \cdot a(n, 2 r)\left(n \in N^{*}\right)
$$

Here

$$
\begin{aligned}
& K_{1}=\frac{2 n+2 r+1}{(2 r+1)(n+1)} \\
& K_{2}=\frac{3(2 n+2 r+3)}{(2 r+1)(n+3)} \\
& K_{3}=\frac{4 n r(2 r-2)(2 n+2 r+2)}{(n+1)(n+3)(n+2 r-1)(n+2 r+1)}
\end{aligned}
$$

and

$$
a(r, s)=\binom{r+s}{s}
$$

## 3. ZETA FUNCTION OF THE LAPLACIAN $\Delta$

 ON $S p(r+1) / S p(1) x S p(r)$ AND THE SPECTRAL INVARIANTAs we consider the positive operator $\Delta$, we get $\eta(\Delta, s)=\zeta(\Delta, s)$ and

$$
\begin{gathered}
\zeta(\Delta, s)=\sum_{n=1}^{\infty}\left\{\frac{2 n+2 r+1}{(2 r+1)(n+1)}\binom{n+2 r}{2 r}\binom{n+2 r-1}{2 r-1} \times\left\{\frac{n^{2}+2 n r+n}{2(r+2)}\right\}^{-s}\right\}+ \\
\left.+\sum_{n=0}^{\infty} \frac{3(2 n+2 r+3)}{(2 r+1)(n+3)}\binom{n+2 r-1}{2 r-1}\binom{n+2 r+2}{2 r} \times\left\{\frac{n^{2}+2 n r+3 n+2 r+4}{2(r+2)}\right\}^{-s}\right\}+ \\
+\sum_{n=1}^{\infty} \frac{4 n r(2 r-2)(2 n+2 r+2)}{(n+1)(n+3)(n+2 r-1)(n+2 r+1)}\binom{n+2 r+2}{2 r+1}\binom{n+2 r}{2 r} \times \\
\left.\times\left\{\frac{n^{2}+2 n r+2 n+2 r+1}{2(r+2)}\right\}^{-s}\right\} .
\end{gathered}
$$

First we explain below the method of analytic continuation which we use to compute $\zeta(\Delta, s)$ at $s=0$. Let $S=\sum_{n-1}^{\infty} g(n)\{f(n)\}^{-s}$ be a series, where $g(n)$ and $f(n)$ are two primitive polynomials of degrees $q$ and $k$ respectively. This series $S$ has analytic continuation in the entire complex plane as

$$
\left.S=\sum_{n=1}^{\infty} g(n)\left\{n^{k}+P(n)\right)^{-s}-n^{-k s}\right\}+\sum_{n=1}^{\infty} g(n) n^{-k s}
$$

Here $f(n)=n^{k}+P(n), P(n)$ being a polynomial of degree $k-1$. Let

$$
\begin{gathered}
\left.(\mathrm{I})=\sum_{n \leq c} g(n)\left\{n^{k}+P(n)\right)^{-s}-n^{-k s}\right\}, \\
(\mathrm{II})=\sum_{n>c} g(n) n^{-k s}\left\{\left(1+\frac{P(n)}{n^{k}}\right)^{-s}-1\right\}, \\
(\mathrm{III})=\sum_{n=\mathrm{i}}^{\infty} g(n) n^{-k s}
\end{gathered}
$$

The positive number $c$ is chosen such that $\left|\frac{P u \cdot p(n)}{n^{k}}\right|<1$. So, $S$ has analytic continuation in the entire complex plane with

$$
S=(\mathrm{I})+(\mathrm{II})+(\mathrm{IIII}) .
$$

Now, (I) is an entire function whose value at $s=0$ is $0 . \operatorname{In}$ (II), $\left(1+\frac{P u \cdot p(n)}{n^{k}}\right)^{-s}$ can be expanded using binomial theorem because $\left|\frac{P u \cdot p(n)}{n^{k}}\right|<1$.

So

$$
(\mathrm{II})=\sum_{n>c} g(n) n^{-k s}\left\{\frac{-s P(n)}{n^{k}}+\frac{s(s+1)}{2}\left(\frac{P(n)}{n^{n}}\right)^{2} \ldots \text { to } \infty\right\},
$$

when $s \rightarrow 0$, (II) gives some constans due to first few terms as $s \zeta(s+1) \rightarrow 1$ and all the other terms in (II) will tend to zero. Here $\zeta$ is the ordinary Riemann Zeta function. Moreover the sum in (II) taken over any finite rectangle also tends to zero as $s \rightarrow 0$.

Let $g(n)=\sum_{i=0}^{q} a_{i} n^{i}$ where

$$
a_{i}(0 \leqq i \leqq q)
$$

are constans with

$$
a_{q}=1 .
$$

Then

$$
(\mathrm{III})=\sum_{i=0}^{q} a_{i} \zeta(k s-i)
$$

when $s \rightarrow 0$, (III) will contribute some constans to $\zeta(\Delta, 0)$. Now we compute $\zeta(\Delta, s)$ at $s=0$ for $S p(r+1) / S p(1) \times S p(r)$. Let us make the following assumptions:

$$
\begin{aligned}
g_{1}(n) & =\frac{2 n+2 r+1}{(2 r+1)(n+1)}\binom{n+2 r}{2 r}\binom{n+2 r-1}{2 r-1}= \\
& =\sum_{i=0}^{4 r-1} a_{i} n^{i}, \\
g_{2}(n) & =\frac{3(2 n+2 r+3)}{(2 r+1)(n+3)}\binom{n+2 r-1}{2 r-1}\binom{n+2 r+2}{2 r}= \\
= & \sum_{i=0}^{4 r-1} b_{i} n^{\prime}, \\
g_{3}(n)= & \frac{4 n r(2 r-2)(2 n+2 r+2)}{(n+1)(n+3)(n+2 r-1)(n+2 r+1)} \times \\
& \times\binom{ n+2 r+2}{2 r+1}\binom{n+2 r}{2 r}=\sum_{i=0}^{4 r-1} c_{l} n^{\prime}, \\
& f_{1}(n)=\frac{n^{2}+2 r n+n}{2(r+2)}, \\
& f_{2}(n)=\frac{n^{2}+2 n r+3 n+2 r+4}{2(r+2)}, \\
& f_{3}(n)=\frac{n^{2}+2 n r+2 n+2 r+1}{2(r+2)} .
\end{aligned}
$$

Then

$$
\begin{gathered}
\zeta(\Delta, s)=\sum_{n=1}^{\infty} g_{1}(n)\left\{f_{1}(n)\right\}^{-s}+\sum_{n=0}^{\infty} g_{2}(n)\left\{f_{2}(n)\right\}^{-s}+\sum_{n=1}^{\infty} g_{3}(n)\left\{f_{3}(n)\right\}^{-s}, \\
\zeta(\Delta, s)_{(s=0)}=(r+1)(2 r+3)+\left\{\sum_{n=1}^{\infty} g_{1}(n)\left\{f_{1}(n)\right\}^{-s}+\sum_{n=1}^{\infty} g_{2}(n)\left\{f_{2}(n)\right\}^{-s}+\right. \\
\left.+\sum_{n=1}^{\infty} g_{3}(n)\left\{f_{3}(n)\right\}^{-s}\right\} \quad(s=0)
\end{gathered}
$$

We first find the contribution to $\zeta(\Delta, 0)$ from

$$
S_{1}=\sum_{n=1}^{\infty} g_{1}(n)\left\{f_{1}(n)\right\}^{-s}
$$

This series has analytic continuation in the entire complex plane as

$$
S_{1}=(\mathrm{I})+(\mathrm{II})+(\mathrm{III})
$$

where

$$
\begin{aligned}
& (\mathrm{I})=\sum_{n=1}^{2 r+1} g_{1}(n)\left\{\left(\frac{n^{2}}{2(r+2)}+\frac{2 n r+n}{2(r+2)}\right)^{-s}-\left(\frac{n}{\sqrt{2(r+2)}}\right)^{-2 s}\right\} \\
& (\mathrm{II})=\sum_{n=2 r+2}^{\infty} g_{1}(n)\left(\frac{n}{\sqrt{2(r+2)}}\right)^{-2 s}\left\{\left(1+\frac{2 r+1}{n}\right)^{-s}-1\right\} \\
& (\text { III })=\sum_{n=1}^{\infty} g_{1}(n)\left(\frac{n}{\sqrt{2(r+2)}}\right)^{-2 s}
\end{aligned}
$$

(I) is entire function whose value at $s=0$ is 0 . As

$$
\left|\frac{2 r+1}{n}\right|<1 \quad \text { for } n \geqq 2 r+2
$$

(II) $=\sum_{n=2 r+2}^{\infty} g_{1}(\hat{n})\left(\frac{n}{\sqrt{2(r+2)}}\right)^{-2 s}\left\{-s \frac{2 r+1}{n}+\frac{s(s+1)}{2}\left(\frac{2 r+1}{n}\right)^{2}-\ldots\right.$ to $\left.\infty\right\}$.

Denoting by (II) $)_{i}$, the $i$-th term of (II) in above expansion, we get

$$
\begin{aligned}
(\mathrm{II})_{1} & =-s \sum_{n=2 r+2}^{\infty} g_{1}(n)\left\{\frac{n}{\sqrt{2(r+2)}}\right\}^{-2 s} \cdot \frac{2 r+1}{n}= \\
& =\frac{-s(2 r+1)}{(\sqrt{(2(r+2)})^{-2 s}} \sum_{n=2 r+2}^{\infty} g_{1}(n) n^{-(2 s+1)}
\end{aligned}
$$

(II) ${ }_{1}$

$$
(\text { at } s=0)=-(2 r+1)\left\{s \sum_{i=0}^{4 r-1} a_{i} \zeta(2 s+1-i)\right\}=\frac{-(2 r+1)}{2} a_{0}
$$

$$
\text { (at } s=0 \text { ). }
$$

Similarly

$$
\begin{aligned}
& (\mathrm{II})_{2} \quad(\text { at } s=0)=\frac{(2 r+1)^{2}}{4} \cdot a_{1} \\
& \text { (II })_{3} \quad(\text { at } s=0)=\frac{-(2 r+1)^{3}}{6} \cdot a_{2}
\end{aligned}
$$

and so on. Finally

$$
\text { (II) })_{4 r-1} \quad(\text { at } s=0)=\frac{(-1)^{4 r-1}(2 r+1)^{4 r-1}}{2(4 r-1)} \cdot a_{4 r-2}
$$

and

$$
(\mathrm{II})_{4 r} \quad(\text { at } s=0)=\frac{(-1)^{4 r}(2 r+1)^{4 r}}{2(4 r)} \cdot a_{4 r-1}
$$

All the other terms in (II) will tend to zero as $s$ tends to zero.

$$
\begin{aligned}
\text { (III) }= & \sum_{n=1}^{\infty} g_{1}(n)\left(\frac{n}{\sqrt{2(r+2)}}\right)^{-2 s}=\left(\frac{1}{\sqrt{2(r+2)}}\right)^{-2 s} \sum_{n=1}^{\infty} g_{1}(n) n^{-2 s} ; \\
& \text { (III) } \left.\quad(\text { at } s=0)=\sum_{i=0}^{4 r-1} a_{i} \zeta(2 s-i) \quad \text { (at } s=0\right)= \\
= & a_{0} \zeta(0)+a_{1} \zeta(-1)+a_{3} \zeta(-3)+\ldots+a_{4 r-1} \zeta(1-4 r)= \\
= & \frac{-a_{0}}{2}-\frac{a_{1} B_{1}}{2}+\frac{a_{3} B_{2}}{4}-\frac{a_{5} B_{3}}{6}+\ldots+a_{4 r-1} \frac{B_{2 r}}{4 r} .
\end{aligned}
$$

Here we used the formulae:

$$
\zeta(0)=-\frac{1}{2}, \quad \zeta(-2 m)=0
$$

and

$$
\zeta(1-2 m)=\frac{(-1)^{m} B_{m}}{2 m} \quad \text { for } m=1,2,3, \ldots,
$$

in which $B_{1}, B_{2}, \ldots$ are Bernoulli's numbers [12].
Let us now find out the contribution to $\zeta(\Delta, 0)$ from

$$
S_{2}=\Sigma g_{2}(n)\left\{f_{2}(n)\right\}^{-3}
$$

$S_{2}$ has analytic continuation in the entire complex plane as $S_{2}=(I V)+(V)+$ + (VI) where

$$
\begin{gathered}
(\mathrm{IV})=\sum_{n=1}^{c} g_{2}(n)\left\{\left(\frac{n^{2}}{2(r+2)}+\frac{2 n r+3 n+2 r+4}{2(r+2)}\right)^{-s}-\left(\frac{n}{\sqrt{2(r+2)}}\right)\right\}^{-2 s}, \\
(\mathrm{~V})=\sum_{n=e+1}^{\infty} g_{2}\left(\frac{n}{\sqrt{2(r+2)}}\right)^{-2 s}\left\{\left(1+\frac{2 n r+3 n+2 r+4}{n^{2}}\right)^{-s}-1\right\}
\end{gathered}
$$

$$
(\mathrm{VI})=\sum_{n=1}^{\infty} g_{2}(n)\left(\frac{n}{\sqrt{2(r+2)}}\right)^{-2 s}
$$

Here $c$ is chosen such that $\left|\frac{2 n r+3 n+2 r+4}{n^{2}}\right|<1$.
For example when $r=2, c$ can be chosen to be equal to 8 . (IV) is entire function whose value at $s=0$ is 0 .

$$
\begin{aligned}
(\mathrm{V})= & \sum_{n=c+1}^{\infty} g_{2}(n)\left(\frac{n}{\sqrt{2(r+2)}}\right)^{-2 s}\left\{-s . \frac{2 n r+3 n+2 r+4}{n^{2}}+\right. \\
& \left.+\frac{s(s+1)}{1.2}\left(\frac{2 n r+3 n+2 r+4}{n^{2}}\right)^{2}-\ldots \text { to } \infty\right\}
\end{aligned}
$$

Let

$$
P_{2}(n)=2 n r+3 n+2 r+4
$$

and

$$
g_{2}(n)\left(P_{2}(n)^{t}=\sum_{i=0}^{4 r+t-1} b_{(t, i)} n^{i} \quad \text { for } 1 \leqq t \leqq 4 r\right.
$$

Denoting by $(V)_{i}$, the $i$-th term of $(V)$, we get

$$
\begin{gathered}
(\mathrm{V})_{1}=\frac{-s}{(\sqrt{2(r+2)})^{-2 s}} \sum_{n=c+1}^{\infty} g_{2}(n) P_{2}(n) n^{-(2 s+2)}, \\
\left(\mathrm{V}_{1}\right) \quad(\text { at } s=0)=-s \sum_{i=0}^{4 r} b_{(1, i)} \zeta(2 s+2-i)=-\frac{1}{2} b_{(1,1)} \\
(\text { at } s=0) .
\end{gathered}
$$

Similarly

$$
(\mathrm{V})_{2}=\frac{1}{4} \cdot b_{(2,3)} \quad \text { and so on. }
$$

Finally

$$
(V)_{4 r}=\frac{(-1)^{4 r}}{8 r} \cdot b_{(4 r, 8 r-1)}
$$

Now

$$
\begin{aligned}
& \text { (VI) }=\sum_{n=1}^{\infty} g_{2}(n)\left(\frac{n}{\sqrt{2(r+2)}}\right)^{-2 s}=\left(\frac{1}{\sqrt{2(r+2)}}\right)^{-2 z} \sum_{i=0}^{4 r-1} b_{i} \zeta(2 s-i), \\
& \text { (VI) } \quad \text { (at } s=0)=-\frac{b_{0}}{2}-\frac{b_{1} B_{1}}{2}+\frac{b_{3} B_{2}}{4}+\ldots+\frac{(-1)^{2 r} b_{4 r-1} B_{2 r}}{4 r}
\end{aligned}
$$

Similarly to find the contribution from $S_{3}=\Sigma g_{3}(n)\left\{f_{3}(n)\right\}^{-8}$, we assume that

$$
P_{3}(n)=2 n r+2 n+2 r+1
$$

and

$$
g_{3}(n)\left(P_{3}(n)\right)^{t}=\sum_{i=0}^{4 r+t-1} c_{(t, i)} n^{t} \quad \text { for } 1 \leqq t \leqq 4 r
$$

As we have done for $S_{2}$, the contribution from $S_{3}$ can be found out.
So we have now proved the following theorem:

Theorem. A spectral invariant of the Zeta function $\zeta(\Delta, s)$ at $s=0$ of the Laplace Beltrami operator $\Delta$ acting on forms of degree 1 on $S p(r+1) / S p(1) x S p(r)$ is

$$
\begin{aligned}
& \sum_{t=1}^{4 r} \frac{(-1)^{t}(2 r+1)^{t}}{2 t} \cdot a_{t-1}-\frac{a_{0}}{2}+\sum_{t=0}^{2 r} \frac{(-1)^{t} a_{2 t-1} B_{t}}{2 t}+ \\
&+\sum_{t=1}^{4 r} \frac{(-1)^{t}}{2 t} \cdot b_{(t, 2 t-1)}-\frac{b_{0}}{2}+\sum_{t=1}^{2 r} \frac{(-1)^{t} b_{2 t-1} B_{t}}{2 t}+ \\
&+\sum_{t=1}^{4 r} \frac{(-1)^{t}}{2 t} c_{(t, 2 t-1)}-\frac{c_{0}}{2}+\sum_{t=1}^{2 r} \frac{(-1)^{t} c_{2 t-1} B_{t}}{2 t}+(r+1)(2 r+3)
\end{aligned}
$$

The meanings of the above symbols were already explained.
Remarks. Using the same method and using the results in [8], a spectral invariant for $S O(n+2) / S O(2) x S O(n)$ can be computed [11].

## REFERENCES

[1] M. F. Atiyah, V. K. Patodi and I. M. Singer, Spectral asymmetry and Riemannian geometry, Bull. Lon. Math. Soc., Vol. 5, Part 2, No. 14 (1973), 229-234.
[2] M. F. Atiyah, V. K. Patodi and I. M. Singer, Spectral asymmetry and Riemannian geometry I, Math. Proc. Cambridge. Philos, Soc. 77 (1975), 43-69.
[3] M. F. Atiyah, V. K. Patodi and I. M. Singer, Spectral asymmetry and Riemannian geometry II, Math. Proc. Cambridge. Philos, Soc. 78 (1975), 405-432.
[4] M. F. Atiyah, V. K. Patodi and I. M. Singer, Spectral asymmetry and Riemannian geometry III, Math. Proc. Cambridge. Philos, Soc. 79 (1976), 71-99.
[5] A. Ikeda and Y. Taniguchi, Spectra and eigen forms of the Laplacian on $S^{n}$ and $P^{n}(C)$. Osaka J. Math. 15 (1978), 515-546.
[6] K. Mahler, Uber einen Satz von Mellin, Mathematische Annalen 100 Band (1928), 384-398.
[7] R. T. Seeley, Complex powers of an elliptic operator, Proc. Symposium in Pure Math., Vol. 10, Amer. Math. Soc. (1967), 288-307.
[8] N. Sthanumoorthy, Spectra of de Rham Hodge operator on $\operatorname{SO}(n+2) / S O(2) x S O(n)$, Bull. Sc. Math. $2^{e}$ serie 108 (1984), 297-320.
[9] N. Sthanumoorthy, Spectra of de Rham Hodge operator on $S_{F}(n+1) / S p(1) x S p(n)$. Bull. Soc. Math. (1986), Bull. Sc. Math; $2^{\circ}$ Serie, Voi. 111, 1987, 201 - 227.
[10] N. Sthanumoorthy, Spectral invariant of the Zeta fusction of the Laplacian on $S^{4 r-1}$, Indian J. Pure Appl. Math., Vol. 19(5), 1988, 407-414.
[11] N. Sthanumoorthy, Spectral invariants for the non singular Quadric Hyper-Surface, Bull. Sc. Math. $2^{\circ}$ Serie, 114, 1990, 361-371.
[12] E. C. Titchmarsch, The theory of the Riemann Zeta function, Oxford at the clarendon Press, Reprinted 1967.
[13] C. Tsukamoto, Spectra of Laplace Beltrami operators on $S O(n+2) / S O(2) x S O(n)$ and $S p(n+1) / S p(1) x S p(n)$, Osaka. J. Math. 18 (1981), 407-426.

## Neclacanta Sthanumoorthy

Ramanujas Institute for Advanced Study
in Mathematics
University of Madras
Madras-600 005
India

